BT 4 Bl A B Kk O #t 8 % ( Tedr eA0REE )
GHEANAEET) ERk244E TH 3HER
oo 4 g | e - k| e iy WY T

AHAERT 98 116 116 232 IBTHN 12,008 11,832 13,018| 24, 850|%kMET T H 154 163 118 281 A RAHAT 543 686 744 1,430
ARYHT 212 196 220 416 FEIT=TH 138 133 122 255|  HEHIX 3,212| 4,054 4,165 8,219
JEBT 358 337 381 T18|f5 EHT 250 280 303 583|FxMTIU T A 77 54 59 113
B 529 572 598| 1, 170|fRizNT 3,540 3,890 3,915 7,805 ANHFHHX 9,923 10,780 10, 086| 20, 866k A JHHT 323 455 469 924
& HHT 316 321 343 664 FrifHHT 191 210 233 443 A ET 200 293 313 606
FE M 282 257 259 5167 T 526 544 568 1, 112|Hrfny 1,056 1,354 1,395 2, 7495 1 LMy — T | 656 798 927 1,725
)1 ET 121 121 128 249[7TART 3,314| 3,649 3,706 7, 35581 H AT 364 432 464 89641 LIET — T H 228 273 294 567
KAGHT 619 598 617 1, 215| HRHAT 3,085 3,513| 3,629 7, 142+ 2 mT 1, 659 1, 830 1,990 3, 820 AR/ JN =T 625 786 827 1,613
$RmT 18 15 18 33| gy 547 636 626  1,262| H M 919  1,143| 1,133 2,276 L4 mT 1,430 1,823| 1,979 3,802
FSHT 52 51 57 108 7 B HT 1,250]  1,497| 1,550  3,047| #HemRHX 3,998 4,759  4,982| 9,741| FE/\iEHuX 3,462  4,428| 4,809 9,237
b= T 216 238 282 520 KARHT 157 159 181 340
drisET 81 66 64 130| A YRT 347 437 486 923| H-EFHT 2,633 2,971|  3,097| 6, 068|4 ELET 449 495 547| 1,042
JUREHT 112 102 116 218| ERIT—T H 338 409 4217 836 A/ \AHT 1,028 1,235 1,181 2, 416|ZEIGHT 277 370 377 747
HHET 144 103 104 207\ HHRET T H 415 486 471 957 /1N J\AKHT 1,173) 1,423 1,431 2,854/ MET 739 835 854| 1,689
TREHT 81 58 80 138| ERIT =T H 421 498 501 999| IE@L=FHT 400 491 541 1, 032 HH BLmT 189 250 235 485
FFIHET—T H 158 148 181 329 HUERETIU T B 298 385 423 808| M EATYE—T H 43 41 18 59| 5l 1,003 1, 282 1, 366 2,648
FRIHET T H 119 138 131 269| IFRMIX 14,679| 16,593 17,019 33,612 RN —TH 104 108 92 200| A E HT 596 790 816/ 1,606
FFAIMAT =T H 126 139 148 287 fErT—TH 245 216 274 490( 5 S 3,253 4,022 4,195 8,217
FRTHETY T H 144 174 182 356| 1 JFHT 3,578 4,088 4,255 8, 343| M T H 32 32 35 67
A FalT 441 447 519 966y fEmT—T H 271 301 338 639|HEAT =T H 16 14 15 29| AP IT 5,405|  6,366| 6,528 12,894
=F: L 27 20 25 45| RT =T H 569 636 718 1, 354|HERETIUT H 120 126 119 245 JFHT 167 225 251 476
iy 170 169 193 362( T kT =T H 851 894 982 1, 876|uLMT 1,804| 2,157 2,223 4,380 AEEFHX 5,572|  6,591| 6,779 13,370
=R 45 31 46 WiEz:20 1, 749 1,824 1,986  3,810] HJI[HX 7,598 8,814| 9,026 17,840
T 174 151 190 341| FEpfHAT 1,437 1,567 1,640 3,207 RIRHT 406 526 575 1,101
RILHT 503 530 551 1, 081 | B Hy 181 194 212 4064 R 472 518 609 1, 127|5XHHET 475 566 572| 1,138
(=) 39 34 36 70|\ FHRHET—TH 469 524 505 1, 029 | Al T 2,160  2,541| 2,506 5, 047|kEFHT 537 667 623 1,290
fEFHET 86 72 84 166\ TRIET =T H 350 365 402 767| N EHT 218 290 314 60475 5 HT 126 160 140 300
HEAHT 41 41 45 86|\ FHRET=TH 424 474 511 985| & i 1,047| 1,232 1,339] 2, 571|FKJFHT 514 719 732| 1,451
FHET 256 241 246 A87[\NFARETIYU T B 381 438 504 942| i IRHT 483 592 609 1,201 % HT 345 427 393 820
f=Lg 174 185 186 371 R X 10,260 11,305 12,053| 23, 358|HT AT 367 394 463 857t 4T 485 630 641 1,271
T bET 591 632 676/ 1,308 J\ T 2,073|  2,573| 2,673 5,246 5{s EHLX 2,888 3,695 3,676| 7,371
FEASHT 35 35 27 62| b peEpmy 2,160  2,521| 2,623 5, 14435 HET 121 169 172 341
ST 518 511 582 1, 093|{&=BFERT 33 37 50 87 J\iEHIX 6,941|  8,309| 8,685 16,994| LjHT 242 342 342 684
FRHT 26 28 30 58| k- EIT 3,373 3,835 3,681 7,516 TERETHT 131 186 184 370
LT 202 182 185 367| AL AZERT 346 418 466 884 - fi] W] 1,167 1,437 1,462  2,899| T2 HHET 136 206 195 401
JEET 184 164 200 364/ 2HT 617 631 663 1,294| & ET 1,834 2,159 2,248 4, 407| FHEHT 365 486 462 948
AT 371 358 391 749 TP HT 1,104) 1,359 1,338| 2,697 [T 790 942 997 1,939 EHT 281 428 415 843
R AT 39 33 45 78| T2 3T 1,317 1,668 1,724 3, 392|dt/AfRET 404 455 517 972| PHREFHT 363 413 381 794
AT 1, 592 1,643 1,812 3,455 FrhjaHT 900  1,147| 1,134 2,281| EfAX 4,195 4,993|  5,224| 10, 217|/\iEJFHT 301 410 447 857
fi FE T 210 211 237 448| Hr1% PAmT 400 478 485 963 ) | 1 (X 1,819 2,471 2,426 4,897
icLZLig 125 133 152 285| HHJEHT— T H 492 589 532 1, 121|7hHT 471 596 572| 1,168
F T 174 153 160 33| HEIT =T H 1, 396 1,499 1,797 3, 296| 45 HulT 420 551 536 1, O87| AAIMT =/ £ 476 654 642 1,296
‘= IehT 198 191 253 444 fERT =T H 594 680 751 1, 431 (b Hr T 152 211 195 406 A vAIRTHE H 428 572 562 1,134
Amy 187 158 203 361 HERTIUT H 599 711 719 1, 430|147 7107 131 178 183 361 AET KA 167 240 241 481
JEAHERET 65 56 30 86 W AHEMT 848 982 1,003 1, 985|111 1, 120 1, 446 1,506 2, 952( A HIET K 118 157 164 321
A1) 343 358 426 784\ Fi1H £ Hr T 556 606 551 1, 157| i iy 357 453 492 945 A THINT) 11 343 422 449 871
)1y 242 182 259 441|  EEFHIX 14,735 17,161 17,517| 34, 678|%RHT 432 540 568  1,108] AvAHX 1,532  2,045| 2,058 4,103
L1 FE T 110 102 107 209 Fhldemy 230 310 321 631
S1) 94 87 102 189| b/ sy 773 902 960| 1,862 EEX 3,313| 4,285 4,373 8, 658|SEAKHTPEH R 712 903 982| 1,885
Py fmy 36 43 39 82| L/t HT 445 565 629 1,194 FERHT S BT 85 107 123 230
el 43 54 49 103 kAT 2,962 3,094 2,696 5, 790| bk ASHET 1, 141 1, 346 1, 366 2, T12| FEHRBTHA 2 IR 334 222 204 426
G mT 75 79 74 163[ T/ BHT 2,144 2,328/ 2,171 4, 499|175 RAHBT 281 387 397 T84 EEHBHT RS 865 1,186 1,222 2, 408
JHIAERT 239 248 277 525| T/ HT 1, 550 1,650 1,569 3, 219| LRy 606 809 830 1, 639| FEARMT HH = 397 555 555 1,110
FEHAHT 398 352 395 TAT| HUHRET 1, 406 1,637 1, 567 3, 204| FRIFHT 421 556 560 1, 116| ZARRT 2 1, 220 1,561 1,627 3,188
i FH T 169 168 161 329|FkIT— T H 274 254 195 449| FPRHEET 220 270 268 538 FEAPHT ¥ 700 955 994 1,949
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M [ 331 506 505 1, 011 FHMT Jy 1L 194 296 277 573
FEHRMT 203 296 288 584 i HEMT AR 445 611 606 1,217
FEPRETFT A (L 145 198 219 417 E AT I 268 356 342 698
FEHRMT )1 411 534 571 1, 105 & FHmuyh 501 730 688 1,418
FEYRIT P 6 5 9 14| & HHT % 1 397 551 580 1,131
FEHRMTAAAIR 837| 1,191  1,201| 2,392 HMTZ%H] 100 150 159 309
FEGRET A i 1,510 1,959 2,039 3, 998| & H-HT 30 46 49 95
PR HE X 7,756 10,178 10,539| 20, 717| & HET R 288 417 430 847
EEaalp: 209 194 237 431
Sl ET 3,262 4,178 4,330 8, 508|FHHETHA 39 63 58 121
paislag 1, 456 1,816 1,966 3, 782| 5 HHT IR 13 13 18 31
5| FE T 424 569 632 1,201 HIHRT LR 372 533 548 1,081
3=t 1) 145 202 210 412 EHBTRR 39 56 70 126
T faf v ] 237 278 272 550| 7 H-HT 1 129 179 168 347
77K T 74 114 113 227 EHMTH S 131 203 213 416
% JE[RIET 69 101 111 212| EHET/NER 342 470 482 952
B S HT 178 265 270 535 & HHT L AE 105 162 183 345
V5[ 5y HT 219 325 316 641| E HRT A I 169 223 214 437
b Iy 324 385 383 768 & FHHT /N 211 314 310 624
T e AT 2,997|  3,953| 3,851 7, 804| T H-HT I iz 536 743 718 1,461
AT 1,126 1,402 1,420 2, 822| HFHATEIBEE — T H 323 398 423 821
=AY 658 884 892 1,776 EHMTEBE T H 356 442 486 928
R AT 1,317 1,619 1,606 3,225 & HETEEEA =T H 258 360 349 709
[iZ1=1a) 1,094 1,384 1,348| 2, 732| i HHTE IR 281 424 435 859
rh ELET 403 515 548 1, 063] & H-HT T B 93 129 140 269
PR T 585 780 798 1, 578| & FHM] LB 138 196 193 389
FEHET 486 612 673| 1, 285| AT O 59 92 92 184
RER X 15,054| 19,382 19,739 39,121| #HFFHX 9,136 12,448| 12,672| 25,120
iy 5,478| 6,263 6,388 12,651
T b X 5,478 6,263| 6,388 12,651
R T 1,166|  1,551| 1,657| 3,208
rh = AT 962 921 1,121 2,042
S AT 454 628 614 1,242
B4 LT 111 68 96 164
R4 IHIRT 43 42 63 105
R ERT 358 541 548 1,089
LT 879 1,178| 1,252| 2,430
o L LT 669 921 916/ 1,837
- HLRRT 979 1,312 1,359 2,671
AT 860 1,180 1,187 2,367
e T 680 930 970 1,900
FaHT 179 232 261 493
+- 3T 196 280 259 539
B PRHT 335 482 472 954
=Y FRET 104 136 138 274
[URLa) 120 166 170 336
R4 X 8,095 10,568 11,083 21,651
E R 631 798 811 1, 609
IR E IR 1,166  1,436| 1,462| 2,898
E R RAR 216 308 322 630
IR RAR 956/ 1,339 1,389 2,728
2 HEET/M 141 216 220 436 w A E 154,907| 184,976| 190,512| 375, 488




